
Dopasuj powiaty 2

tablice rejestracyjne

Poziom trudności: Średni

1. KTT

A - Tarnowskie Góry

B - Tarnobrzeg

C - Zakopane

2. RSA

A - Sanok

B - Sandomierz

C - Zawiercie

3. LPU

A - Puck

B - Puławy

C - Lubaczów

4. WM

A - Miastko

B - Mława

C - Mińsk Maz.

5. BL

A - Bielsk

B - Iława

C - Łomża

6. NSZ

A - Szydłów

B - Szczytno

C - Szydłowiec
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7. CTU

A - Turek

B - Tuchów

C - Tuchola

8. GTC

A - Tczew

B - Ostrów

C - Tomaszów

9. ZWA

A - Wałbrzych

B - Wałcz

C - Wąchock

10. PJA

A - Jarosław

B - Janów

C - Jarocin

11. FSL

A - Słupsk

B - Słubice

C - Strzelin

12. DZG

A - Zgorzelec

B - Zgierz

C - Żagań

13. OKL

A - Koszalin
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B - Kluczbork

C - Kolo

14. SZA

A - Zamość

B - Zawiercie

C - Staszów

15. SZY

A - Żyrardów

B - Zamość

C - Żywiec

16. TST

A - Stakowa Wola

B - Staszów

C - Starachowice
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Dopasuj powiaty 2

tablice rejestracyjne

Poziom trudności: Średni

Karta odpowiedzi

1. C

2. A

3. B

4. C

5. C

6. B

7. C

8. A

9. B

10. C

11. B

12. A

13. B

14. B

15. C

16. C
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